[ Efficiency vs vertpos |
~ 0.2

20.18F
g o
20.16F
U -
$0.14F
O
£0.12F
0.1
0.08
0.06

102 107 1 10 0?
TP vertr (cr%)

—=— DQM_original_step2_ttbar-phasel-newgeom
Efficiend —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom

—— DQM_pixelCPETemplateCutChiSquareNew5_step?2_ttbar-phasel-newgeom
~ 0.7

$0.09
[d
>0.08
>
5
_90.07
(8]
£=0.06]
]
0.05]
0.04
0.03]
0.02 : ,
Y S T P
le-

Ratio

g id .
1.05 BRIk aCIEL b 1) |
1 #1110 IR 1113 0

9535 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
> N R T

O 0.18 - rrerrrrieees A cTTTTT R e
S o : : : : :
R e e N
L B S AR
Py Eoo : : : : :

R e e St £ S
T s s
0.08F -+ 4-{{: 1L
006k 11T

0.04f koo endiocebe s

e

effic

Ratio

10 1520
Sim. PV z (cm)



	Contents
	Page 1


